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WEST BENGAL STATE UNIVERSITY
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EcoNoMICS-HONOURS

PAPER-ECOA-V
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. eNfEF T g TS o it w1
Candidates should answer in their own words AN TS SIT I T THANAI Y
and adhere to the word limit as practicable. e FAR

Use separate answer book for each group.

&fSf et ey e Searta a3g 37

Group-A
from-=
1. Answer any two questions from the following: ' Ix2=6
fefeiRe @-cm gf6 avas Tes fiws
(a) What is meant by factor intensity reversal?

Teoive ffRoeia Refdre SR=et qizenfs Iyt 3w

(b) State Marshall-Lerner condition for successful devaluation of
currency of any country. '

(I (RO SR 389 SRR Coea aefi-afia =8 & 9
(c) Distinguish between Balance of Trade and Balance of Payment.
e SIRAY 8 @FHN SRHAR #id & 9

(d) What is Trade Indifference Curve?
3ifitey frarereraet s B QRE ¢

(e) What is meant by effective rate of protection?
TRIFER IIEFA 2R I 0T 9
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2. Answer any one question from the following:

e @- 95 arie Tea fwas

(a) Can you explain a situation where domestic relative price of
imports falls due to imposition of tariff? Explain the paradoxical
result.

WA @CET FOH (NS AT WA I 7 2 ~eqg 95410
TSI I FARA 2 SSREANE Towas J 41

(b) What is optimum tariff? Derive the formula for optimum tariff.
Derive the optimum tariff rate for a small country.

FIY-HARA STEH QR IS [ QAN PIY-SAWA W& AN
T T2 | W (R0 ST Y-S e R R R e

(c) Write a short note on Foreign Trade Multiplier with foreign
repercussion effect.

AP Atfen @l Pl eeir T2t I FE)

3. Answer any three questions from the following:

frefeiRe @-w 915 aria Tex faz

(a) (1) State and explain the basic assumptions of Heckscher-
Ohlin theory.

CEHR- e ANV Srga o1 SepIme e Ui Frgw)

(ii) Establish the Heckscher-Ohlin theory of trade in terms of
physical definition of factor abundance.

Toiminafe sfANmse ARtdR wer AR weEe ey
3R wgft e FF=) ‘

(iti) In what respect does the Heckscher-Ohlin theory
present an advantage over the Ricardian theory of trade?

@ T @ @@F-chim ool R vg o Bl
FICTo - BEA |

(b) (i) Explain the shape of Ricardian offer curve with graph.
fiefa 3t ar @I wgfe @ avg T Fw)

(ii) Derive Ricardian World Trade Frontier.

e Reafdes e Mo Fd s

3040 2
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(iii) Extend Ricardian Comparative Advantage Trade model to
n-country framework.

R G R welt n-or elfears memifie T

(c) Define ‘effective rate of protection’ and discuss its usefulness and
limitations. “For every quota, there is an equivalent import tax”.
Explain with proper illustration.

RIFCIF IAFA YT IS AP «aa@ofmﬁw\fsﬁiwwmm
TE| “ef St @HR AIrE 9 TNLSITE WAl 9% A" —
Toige Foraz e Sfeba aud Roswe 3w

(d) (i) Describe the possible effects of devaluation on domestic
country.

TR YRS Bl JoI ST eoRef 36 31

(i1) Evaluate the elasticity and absorption approaches to counter
primary and secondary effects of devaluation.

TR ST ¢ SRSt deRefH e Feder oFg
Rfegier vy ¢ wfiwa ©g 15 Jemm s
(e) Write short notes on any rwo from the following:
PR Q- 778 e e Bt s
(1) Non-tariff barriers of free trade.
WERIASE TS Y& AR 2o Tz

(ii) Linkage between Spot and Forward market for foreign
exchange.

T YU SIeFas @ WA EIEa 70 |

(ii1) Infant industry argument for protection.

SR FRIFCR SCF Rrafiem 1)

Group -B
Retat-q
4, Answer any three questions from the following:

feffe @-coi R are Teg fiws

(a) What is TAX? Distinguish between ‘Progressive’ and ‘Regressive

kd

tax’.
FAFUS I 2 2Ot @ Sraisifoet sram St “nef ofa a1
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(b) What are the merits and demerits of VAT?

P TGN T (VAT) &3 R4t 6 jRanef Rge ww)
(c) What is meant by ‘market failure’?

eta JE JEor IS F @R

(d) Compare between tax-ﬁnanée and loan-finance of government
expenditure.

TR YR SPRECAR CFCI I '8 R ARET A, 7 |
(e) What is meant by double taxation of savings?
TR ToR IR T AN 36708 F QIR 9

5. Answer any fwo questions from the following: 14x2 =28
R @-cem 7 eviR Tea s

(a) What are social goods? Derive the condition for optimum allocation
of resources between private goods and social goods.

AN FY FIF A ? ORIA TY GR FANEE TR T SeAwCT=
SerRerefeR TEiEw T0a *18T Ay e

(b) “The equal sacrifice principle implies progressive Taxation”. Do
you agree with this view? Give reasons for your answer.

“i ool WS @i wimen Mot 37 e & @ 3
GFAS 7 SR TEEFR TCF L& )

(c) Distinguish between internally held public debt and external public
debt. Does public debt impose a burden on future generation?

EEA € AR (W) W W AN R IR 9 R
CRYS TTA T I A IR 9

(d) Write short notes on the following:
Moo Renalm Som wfwg St forgme
(i) The free rider problem and Government intervention.
‘Rl SIoR TR TR 9k TR TICFA)
(ii) Taxation on Capital gain.
TR SR oA 9|
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PAPER-ECOA-VI
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. 28T AT G YT L0 Tt F31
Candidates should answer in their own words @iz facers 1T I ST TRNAA Y
and adhere to the word limit as practicable. &e7 AT
Group-A
Rom-=
1. Answer any six questions within 150 words each from the following: 4x6 =24

ffiRe @- gofd 2rea Teg fae) &S seo *it3= st

(a) Write a brief note on the change in occupational pattern in India in recent
years.

Ao BN ST (S PSR IS Soira = fve Bt g

(b) Distinguish between marketed surplus and marketable surplus of food
grains.

AW A G T TG 8 AR (@5 TYUER w0 21y T I

(c) Define the concept of “exit policy’ in the context of Indian industrialisation.
e MreRTR Aftefre R Rfew et e

(d) Illustrate the problems of female labour in India.
SRS WA A T R g T

3041 | 1 Tum Over
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(e) State the main features of Indian capital market.
SIS FH IWRR el (IFErafe Trae )

() Briefly discuss the main sources of tax revenue of central government.
(R TP AT FCAA LAY TS T TRTFCo! A T |
(g) Write a brief note on GST.
ooy @ ARCER I Boig @l e Bt g

(h) State the objectives of last Five Year Plan in India.

OIS T AR SARTETR S SrEe 3|

(i) Write a brief note on the recent ‘Balance of payment’ position in India.
SRS AR FTTHA Gqred ARTET S e Bt A
(j) Write a brief note on the Indian currency system.

SRS TH! I TR @3 P IR Bt o

, Group-B
et-2

Answer any two questions from the following. 8x2 =16

fowfoiire Cu-co 715 eroaa B oy

[

Write a note on the monetary policy of the RBI in the recent years.

e S I e 271 +fEe ke Tow Toi @ it B

3. Discuss the impact of economic reforms on poverty in India.
SRS WIATHR TR TARST IRFIER AR SCAD! F |

4. Discuss the changes in Industrial Policy in India since early nineties.
SRS RIS do 97 I BF (AT (¥ AR GETR O WA T4 |
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10.

3041

Write a note on the farm size and productivity debate in Indian Agriculture.

SRS FFATS (ST TG 43 Geotweriieret fary ez Tz Bt forgm

Group-C
Rttt

Answer any four questions from the following.

s c-ceim s1afs e T fuwn

Write a detail note on the problem of unemployment in India.

SIATS (TR AR TAF @36 [@ifze Giget ferge

Discuss the impact of Green Revolution on rural economy in India. Write a
note on the need for a second Green Revolution.

SIA0eA A SRS Tw R 2SR AEADa I+ 93 7o 3w Rea
et Raca Bt o

Analyse the major changes in the characteristics of India’s Foreign Trade
during the plan period.

*fRFEmFs SRred WwRe A wWEgee @ eum AfRega Wi @
A I

Write a critical note on the major changes in the sectoral composition of
India’s national income during the plan period.

ATTAFNET  CORCTT CRINE WO WA oy siffdaelm Bog ol
FACAGARETE s T |

Critically discuss the centre-state financial relation in the context of
recommendations by the 13th Finance Commission.

Wwwamﬁmmwmwmw
PaskicimEr o

15%x4 =60

15

10+5

15

15

15
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11.  Critically evaluate the decision of replacing planning commission by “NITI 15
AAYOG”.

“fS ST e I AR ST G e Frareba @ TCESAEE
*ifiesat e

3041
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‘Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. e AT RIZ FRYE P [ F)
Candidates should answer in their own words AT AT G TR TG AT A
and adhere to the word limit as practicable. ©ex PR |

Use separate answer book for each group.

&S et oy oJus Tervia Faga a%)

Group-A
Rett-=
1. Answer any three questions from the following: 4x3 =12
Ao - fRafd e Tew fae
(a) Give classical definition of probability and explain its limitations. 2+2
TG FiFretet sl e | @7 Riwiae! S o |
(b) The nine digits 1, 2, 3, ..., 9 are arranged in random order to form a nine ‘ 4
digit number. Find the probability that 1, 2 and 3 appear as neighbours in the
order mentioned.
(1,2, 3, ..., 9) SR (1 (@I SR Ry 37 93 9 ok R At oo 21
TN GIRYF NG 1, 26 3 % Foafb oz 574t Amonf Lt sreteat iy w1
(c) If a Poisson distribution has double modes at X = 2 and X = 3, then find the 4
probability that the variable X will take either value 2 or 3.
@3 AT T AB “mode” T X = 2 4R X = 3. GTTHTE 5516 X 93 2
313 T I FAF FAGRA TS 9
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(d) Explain the concepts of ‘sampling fluctuation’ and standard error of a
statistic.

@I g3l BbADER TE RS ¢ afe e 3w

(e) Briefly explain the difference between ‘Point Estimation’ and ‘Interval
Estimation’.

‘Point Estimation”8 ‘Interval Estimation’ &3 (4] 21 FRTHTo I 3241
(f) The joint probability distribution of two variables X and Y is given below
4% 551 AR g RYE ASRAG SAHS (RS

Y
X

0

1

0| (00| —|D
00| LN|CO | b=t [

Evaluate the marginal distribution of X and conditional distribution of Y
given X = 1.

X7 odifeF A 9 Y-97 ¥ Aew e A s 39w
X=1.

2. Answer any one question from the following:
RS @-m 93l 2rs e s

(a) (i) Define a Binomial distribution. Show that the standard deviation of any
binomial function is 4/npq (n, p, g have usual meanings).

faviw fRCITa k@t | (raie @ it Tt forceiteras s RS 2@ (Jnpg
(n, p, 8 q TSI AR NRE)

(ii‘) A speaks truth in 70% cases and B speaks lie in 20% cases. If they don’t
- influence each other, in what percentage of cases are they likely to
contradict each other, narrating the same incident.
A 70% T A A aR B 20% FNF 1) A1 AM O G7F WS
2OIRS 7 IR, GITFEY 932 WAl O oo A FAI, OF AR 367

3042 o 2
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(b) Show that Poisson distribution is a limiting form of Binomial distribution.

(T4 (8, #e Aee e fAreitaa @i Maiam et

3. Answer any two questions from the following:
oo -t 7% avis T fwas
(a) (i) Distinguish between probability density function f(x)and probability
distribution function F(x).
TERA TG ST £ (x) GR_TEGRA A SAREFE F(x) G N4
e

(i) Evaluate probability distribution function F(x) from the following
probability density function f(x). ‘

o e TG SwS f(x)WWﬁ@*ﬁWﬂWF(x)ﬁ‘ﬁlW

f(x)=—e , for0<x <

= 0 elsewhere.

(iii) Define a standard normal variable. For a Hypothesis testing dlstmguxsh

between “Null Hypothesis™ and “Altermative Hypothesis”.

15x2 =30

3+4

2 FreIRS 561 IIF (A 2 G0 AR CFGT “Null Hypothesis” @R

“Alternative Hypothesis” @9 30 N FF

(b) (i) Three identical boxes I, II and III contain respectively 4 white and 3 red
balls, 3 white and 7 red balls, 2 white and 3 red balls. A box is chosen at
random and a ball is drawn out of it. If the chosen ‘ball is found to be
white, what is the probability that box II was chosen?

RoaS a2 7w A I, 11 &k 111 T 418 7wt @ 3% awet 2=, 3% e 716
e 991 @ 216 Mt @ 37 oM 39 R @ AT FHE ST AR FA A
R I T & I (AT (@ FE@ @6 2=, 3% 0 3w F, sRIF I &
ARE T AR O FEIRA T ?
(i) Explain the notions of unbiasedness, consistency, efficiency and
sufficiency of an estimator.

93> 2NFACFE unbiasedness, cons1stency, efficiency @R sufficiency -4
SERIIGEIRIE STl

~)

2x4=8
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(c) (i) Obtain expectation and standard error of a sample mean in case of simple
random sampling without replacement (SRSWOR).

SRSWOR & {¥TS 92 TAIR CHCT ! 910%R 2Pt 8 Foeanf® faefy 311

(ii) A random sample of 100 days shows an average daily sale of Rs. 50/-
with standard deviation of Rs. 10/- in a particular shop. Assuming
normal distribution construct a 95% “Confidence interval” for expected

sale per day.

@3 PR [Rida 100 e o=l R @ @ 3w @, e aeiRe RiE
50 5@t @R A AP 10 5t Freifde FER! (= Sepaie 07, eyRs
fafFa @3 95% “Confidence interval” & Tz

{d) (i) In a random sampling from Normal population N(y, o), find the
Maximum likelihood estimators for the simultaneous estimation of mean
and variance.

T FoIRE SR Ny, 67) RIE SFH T I I OF AT GR (SRR
SIfD SR 2RFFeE (MLE) e 33+
(i1) In a big city 325 men out of 600 samples drawn were found to be
smokers. Does this information support the conclusion that majority of
men in the city are smokers?
@3B TG *2LA 600 T I T T 325 T LA I (02l T ) 9% O
T B 300 T @ @ 2w N Stet <% TegE g o

Group-B
Rett-4

4 Answer any three questions from the following:
f~aleRe @-cW foafp 2ivas Ted fams
(a) Given S(t) = I(9), S(H) = 0.02 Y(f), Y(©) = 2 k() and I, = 100. Find the
investment made in the 4th period of planning of the economy.
W S = I(), S(F) = 0.02 Y(&), Y(©) = 2 K1) 9 [, = 100 T, SR AT
(b) What do you mean by steady state or stationary value in dynamic
equilibrium?

sif&eT SIFPICR (0 G5 (56 A &M i Ie1rs [ @ ¢

3042 4
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(c) For a profit maximising firm under perfect competition the marginal cost

function is MC(q) =2¢q + 1.
Find the Producer’s Surplus at Price P = 15.

o3fx efrafenes eE b T HRER Fek it I S =

MC(q)=2q + 1.
MW P = 15 T O et Bge e 3

(d) Explain the economic significance of the technological condition by

Hawkins-Simon’s.

W.WWWWWW%WWl

(¢) What do you mean by Nash Equilibrium in game theory? What is biased

game?
(519 ST 17 (Nash) SIFART IS & RIRIA 2 GITAT A biased game 32T
IR 2 9

(f) Distinguish between feasible solution and basic feasible solution in a linear

programming problem.

WM@&WW@W&WWWWW

l ’*.«-o! - T :: -:,;‘,,' ».ﬂ}.b}i‘:;

Answer any one question from the following;:

fAnfefRe a-w 9= mmﬁw:

(a) Consider the following demand and supply functions of a commodity:

3042

th =a- bPr(a: b >0)
Q,=-c+dP_ (c,d>0)

and equilibrium condition is Oz = Q..
Derive the first order difference equation of Price and find out the time path
of Price. Also analyse the condition for its convergence.

I LA e vifgnt @ Amie @R Tieadef Rusat 351

Q,= a—->bP(a,b>0)

0, =-c+dP (c,d>0) aR ST
BT Q= leWWWWM%WlWW’N
ﬁﬁwa«mmﬂﬁmwn

8x1=8
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(b) Derive the consumption possibility locus under the Leontief’s two industry
input-output static open model.

freabres 13 Me-RFR wee-az @ comt ey @il (consumption

possibility locus) fea 1
6. Answer any two questions from the following: 15x2 =30
frsforiRe - 72 avem Tz fime
(a) (i) Find and interpret the time path of y using the solution of second order 10+5

difference equation in the Samuelson multiplier accelerator interaction
model when v < (1-v/s)*and v>(1—+/s)?, where , v, s have their usual
meanings.

A WR Wo-2fNe FRT MhEenTR weaba fRee 3w
FNFACR TN LTS AR y-93 TF-9%17 o1 {367 8 it 337 @
v<(1-vs)? @R v>(1-vs)?; y,v,s W8S gBe @

(ii) Given the following demand and supply functions find the inter-
temporal equilibrium price and determine whether the equilibrium is

stable:
D, =18-3P and S, = -3+4P_,
e SRFS fAfeMe Rt ot s T
D,=18-3P and S, = -3+4P_,
(b) (i) Solve the following Linear Programming Problem 10+5
Maximise Z = 3x, + 2x,+ 5x,
Subject to x,+ 2x, +2x, <8
3x, +2x, + 6x, <12
2x,+3x,+4x, <12
and x,x2,x320
(ii) Find the dual solution of the following game
Maximise Z = 3x; + 4x, + 3x,
Subject to x, + x, + 3x; <12
2x,+4x, + x; <42

and xi,x2,x320
Given that the solution of the above problemis X, =3, %, =9, x, =0.

3042 6
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(c¢) (1) What do you mean by ‘Mixed’ strategy in game theory?
oI5 org f3re (Mixed) (e 390s & Qe 9
(i1) Find all the Pure Strategy Nash Equilibrium for the following game.
High Low
High | (50,50) | (10, 20)
Low | (20,10) | (15,15)

Teiea IS (o1¥-97 IR @F (F1e 1T (Nash) iy e w201

(1i1) Consider a two person game as the following

;]

Determine the value of the game and the optimal mixed strategies for
each player.

@3 12 & REAE TfSe ot &Sl retires iy i @Fmiet 8 (it
3y a3z

(d) (i) Present the Leontief’s two-industry input-output static open model as a
simplified Linear Programming model.

AR ENafR-9 Tt 2w I Sorgele I

(i1) If an economy wants to grow at a rate of 6% per annum, given her
capital-output ratio as 3, what should be her marginal propensity to
save? If the economy managed to reach her desired growth what will be
her time path of income when initial income is given as 300?

T @b SRS oS T=T 6% AW I IS B qR I OF PRA-TeAwA
TS 3 T, O OF 2T AW R IO O IR 9 I wdAifel oF
e SRR 3 IS 2 O OIF SEF TR-wE ARl w73 afw
2RI =T 300 =W 9

3042 7
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WEST BENGAL STATE UNIVERSITY
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EcoNOMICS-HONOURS

PAPER-ECOA-VIII

Time Allotted: 1 Hours Full Marks: 25
The figures in the margin indicate full marks. aNfew FA7 07T Ao W fAe ¥
Candidates should answer in their own words AN ST SIRNT I TG TN T
and adhere to the word limit as practicable. &7 PRI
1. Answer any one question from the following: 15x1 =15
ffiRe @-@F 936 arse Te frae

(a) What are the objectives of permanent settlement in British
India? What are its features? How far it helped India’s
agricultural development?

o e Haadl Ak 2 24 Srmieid [ [Fe 29 24w

el [ & ey $im Smm @3 9w F A Ay
FCERE?

(b) Do you think that the ‘new guarantee system’ was better than
the ‘Old guarantee system’ in the history of railways in India?

Sl & T FEA @ SRTe @R R e wgd nRife

3043 ; 1 Turn Over



B.A./B.Sc./Part-III/Hons./ECOA-VII1/2017

2. Write short notes on any two from the following: 5x2=10
fraferie @-ctw 415 Raea S e Bl eigs

(1) Discriminating Protection Policy.

Rreowsers sz qfe

(i) Ottawa Agreement.
RN pie
(111) Decline of handicrafts in India.

(iv) Irrigation System under British India.

o= Stace et 793

3043



